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QUESTION 1

You expand a business rule component that a colleague added to the BPEL process. You see an Assign
element named Facts_To_Rule_Services.

Which statement is true about this assign element?

A. It was added automatically based on entries that your colleague made in the dialog box that appeared when the
business rule component was added to the BPEL model.

B. Your colleague manually added this Assign element after adding the business rule component to the BPEL model.

C. The Assign element was automatically added when your colleague manually added the corresponding
Rule_Service_To_FactsAssign to the BPEL model..

D. You can delete this Assign because it was created for documentation purposes only.

Correct Answer: A

QUESTION 2

Which three are proper applications of Oracle Service Bus?

A. An existing Java web service is made available to clients running transports and protocols not originally
planned by the original developers. No modifications to the web service implementation are required.

B. A request is transformed and routed to an appropriate service endpoint based on the content of the request
message. All complexity of the supporting runtime protocol selection is hidden

C. Arequest for a large graphics job is split into smaller pieces that are processed in parallel by an existing rendering
service. After all of the pieces have been processed, the results are joined to create a single response.

D. A request containing a complex family tree is validated before being routed to an existing genealogy service.
Recursive logic is implemented to validate that all relationships in the tree are consistent.

E. A request for a background check is conditionally routed between multiple third-party validation services with different
service-level agreements. Remediation must be handled if any one of the validation service calls fails.

Correct Answer: ACD

QUESTION 3

Results catching has been configured on a business service. A previously cached result has been flushed from the
cache.

Which two events may have occurred?

A. Result catching has been disabled for the business service.
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B. The WSDL resource for the business service has been updated.
C. The back-end service referenced by the endpoint URI has become unavailable.
D. The back-end service has returned a different response for the cache key.

Correct Answer: BD

QUESTION 4

Which two statements accurately describe policy attachment in Oracle Web Services Manager (OWSM)?

A. The order in which policies are attached to a subject determines the order in which the policies are executed.
B. JDeveloper groups the policies that can be attached into five categories of interceptors.

C. Multiple WS-Addressing policies can be attached to a policy subject.

D. In Enterprise Manager Fusion Middleware Control, a security policy can be attached to a web service and it can be
either enabled or disabled.

Correct Answer: AC

QUESTION 5

After you install the OEP product, which action is required to install andconfigure an OEP domain?
A. Configure the OEP port through the OEP console.

B. Configure the JDBC settings in the config.xml file.

C. Create an OEP domain with the Configuration Wizard.

D. Start the OEP server and enter the administrator credentials when prompted.

Correct Answer: C
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